Left hand side answers

1.
a) 5
b) 10
c) 30
d) 9

2.
a) 50
b) 25
c) 10
d) 20

3.
a) 30
b) 60
c) 150

4.
a) 3/5 of 25 =15 and 2/3 of 18 is 12     3/5 of 25 is bigger
b) 4/7 of 49 = 28 and 5/6 of 36 = 30     5/6 of 36 is bigger
c) 3/11 of 55 = 15 and 1/3 of 45 = 15   They are the same. 


5.
a) 6
b) 36
c) [bookmark: _GoBack]300
d) 0.3

6.
6/10 of 70 is 42 and 3/5 of 70 is 42.  They are the same because 6/10 and 3/5 are equivalent fractions. 

7.
a) Sales (Half price)
b) Sharing between people etc

Right hand side answers


1. 200
2. 2/4 like coke (30)   1/5 like sprite (12)  3/10 like tango (18)
3. 128
4. Class A = 40 like maths. Class B = 35 like maths. Class A likes maths more
5. In the sale the top costs £14 as 2/9 of 18 is 4 so take this away for the sale price. In the sale the shoes cost £21 as 2/9 of 27 is 6 so take this away for the sale price. 
  
6. Ellie buys 50 dresses.  Georgia buys ½ of 30 (which were left) so she bought 15.  That means that 15 dresses are left. 





